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P - III (1+1+1) G / 20 (N)

2020

CHEMISTRY (General)
Paper Code : V-A & B

[New Syllabus]
Full Marks : 60 Time : Three Hours

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : V-A
Full Marks : 20 Time : Thirty Minutes

Choose the correct answer.

Each question carries 2 marks.

1. Monomer of PVC is —

(A) 2 2CF CF

(B) 2 2CH CH

(C) 2CH CHCl

(D) 2 2COOH CH NH

1Ð !þ™!¦þ!¢îû ›öì̃ y›yîû £œéôôôé

(A) 2 2CF CF

(B) 2 2CH CH

(C) 2CH CHCl

(D) 2 2COOH CH NH

2. p-Aminophenol 3 3 2CH COOH CH CO O

(A) Aspirin

(B) Paracetamol

(C) Sulfadiazine

(D) Quinine
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2Ð p-~!›öì̃ yöìšþ˜œ 3 3 2CH COOH CH CO O þ Ú

(A) xÄy¢!þ™!îû̃

(B) ™Äyîûy!¢Ýþy›œ

(C) ¢yœšþy!”ëûy!‹˜

(D) „%þ£z̃ y£z̃

3. Water gas is a mixture of —

(A) CO and N2

(B) CO and H2

(C) CO2 and H2

(D) CO2 and N2

3Ð çëûyÝþyîû †Äyöì¢îû !›×’ !„þÚ

(A) CO ~î‚ N2

(B) CO H2

(C) CO2 H2

(D) CO2 N2

4. Tartrazine is —

(A) Food flavours

(B) Food color

(C) Emulsifier

(D) Food preservative
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4Ð ÝþyîûÝþÆy‹y£z̃  £œéôôôé

(A) …y”Ä†õþ„þ

(B) …y”Ä îû̂

(C) £z›%!œšþyëûyîû

(D) …y”Ä ¢‚îûÇþ’„þyîû#

5. Zeigler-Natta catalyst is mixture of —

(A) 3 43  andAl CH TiCl

(B) 2 5 43  andAl C H TiCl

(C) 3 33  andAl CH AlCl

(D) None of these

5Ð ‹y£z†œyîûéôé˜yRy x %̃‡Ýþ„þ!Ýþîû !›×’éôôôé

(A) 3 43  andAl CH TiCl~î‚2 5 43  andAl C H TiCl

(B) 2 5 43  andAl C H TiCl~î‚2 5 43  andAl C H TiCl

(C) 3 33  andAl CH AlCl~î‚3 33  andAl CH AlCl

(D) ö„þyöì̃ y!Ýþ£z ˜y

6. Indicator(s) used in 2 3Na CO  and 3NaHCO  mixture —

(A) Phenolphthalein

(B) Phenolphthalein and methyl orange

(C) Methyl orange

(D) Methyl red
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6Ð ö„þy˜ ¢)‰þ„þ S=!œV 2 3Na CO ~î‚ 3NaHCO !›×öì’ îÄî£*“þ éôôôé

(A) öšþöì̃ yœšþíy!œ˜

(B) öšþ˜œšþíy!œ˜ ~î‚ !›íy£zœ „þ›œy

(C) !›íy£zœ „þ›œy

(D) !›íy£zœ œyœ

7. Which one is oldest high-level language of computer ?

(A) BASIC

(B) COBOL

(C) FORTRAN

(D) None of these

7Ð ö„þy˜!Ýþ „þ!Á™vþzÝþyöìîûîû ²Ìy‰þ#˜“þ› vþzF‰þéôéhßþöìîûîû ¦þy¡ìy Ú

(A) öî!¢„þ

(B) ö„þyîœ

(C) šþîûÝþÆy˜

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

8. Which is Browser ?

(A) Android

(B) Chrome

(C) Windows

(D) Microsoft Word
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8Ð îÊyvþz‹yîû ö„þy˜!ÝþÚ

(A) xÄyuÈþöìëûvþ

(B) öe«y›

(C) vþz£zöìuþy‹

(D) ›y£zöìe«y¢šäþÝþ çëûyvÅþ

9. Monomer of nilon-6 is —

(A) Adipic acid and hexamethylene diamine

(B) Caprolactum

(C) Adipic acid

(D) Hexamethylene diamine

9Ð ˜#œ˜-6 ~îû ›öì̃ y›yîû £öìœy éôôôé

(A) xÄy!vþ!þ™„þ xÄy!¢vþ ~î‚ ö£:yöì›!í!œ˜ vþyëûy!›˜

(B) þ„þÄyöì²ÌyœÄyQy›

(C) xÄy!vþ!þ™„þ xÄy!¢vþ

(D) ö£:yöì›!í!œ˜ vþyëûy!›˜

10. An example of metal indicator is —

(A) Murexide

(B) Phenolphthalein

(C) BaDS

(D) None of these
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10Ð •y“%þ ¢)‰þ„þ ~„þ!Ýþ vþz”y£îû’ £œ éôôôé

(A) !›vþzöìîû:y£zvþ

(B) öšþöì̃ yœšþíy!œ˜

(C) !î~!vþ~¢

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

—————
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P - III (1+1+1) G / 20 (N)

2020

CHEMISTRY (General)
Paper Code : V-B
[New Syllabus]

Full Marks : 40 Time : Two Hours Thirty Minutes

The figures in the margin indicate full marks.

Group - A

Answer any three questions from the following. 10×3=30

1. (i) Give structure, uses and preparation of Aspirin and Phenobarbital. 3+3

(ii) Give example of an edible emulsifiers and acidulant. 1+1

(iii) What is MSG ? Why it is used in food ? 1+1

2. (i) Describing the manufacturing process of ammonium sulphate. 3

(ii) What are the differences between iodine value and saponification value ? 3

(iii) What are the differences between toilet soap and washing soap ? 3

(iv) What is cetane number of a fuel ? 1

3. (i) Write a short note on hydrogenation of oil and fats. 3

(ii) Give name of  a synthetic rubber ? 1

(iii) Show commercial preparation of urea. 2

(iv) What do you mean by NPK fertilizer ? 2

(v) What is the difference between addition polymerization and co-polymerisation ?
2
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4. (i) Give the structure and name of the alarming gases of LPG ? 2

(ii) Write short note on biofertilizer. 3

(iii) Illustrate anti-knocking agent. 2

(iv) Write short note on biogas. 3

5. (i) Give example of cationic and anionic detergent. 2

(ii) What is superphosphate ? Give some uses of it. 2

(iii) How do you synthesis nylon-6, 6 ? 2

(iv) Define thermoplastic and thermosetting plastic ? 2

(v) What is vulcanization ? 2

Group - B

Answer any one question from the following : 10×1=10

6. (i) What are differences between melting point and triple point ? 2

(ii) Define mean, mode and median. 3

(iii) What do you mean by azeotropic mixture ? 2

(iv) What do you mean by primary standard and secondary standard solution ? 3

7. (i) What are different components of computers ? 2

(ii) What do you mean by standard deviation and root mean square deviation ? 1+1

(iii) Calculate the degree of freedom for the thermal decomposition of CaCO3. 2

(iv) Write down the full form of CPU and RAM. 2

(v) What do you mean by metal ion indicator ? Give example. 2
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îDy %̃îy”

!î¦þy† éô „þ

!˜Á¬!œ!…“þ öíöì„þ öë ö„þy˜ç !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 10×3=30

1. (i) xÄy¢!þ™!îû̃  ~î‚ öšþöì̃ yîyîû!îÝþyöìœîû „þyàþyöì›y– îÄî£yîû ~î‚ ²Ìlßþ!“þ öœ…Ð 3+3

(ii) ~„þ!Ýþ ö¦þy‹Ä ~›%!œšþyëûyîû ~î‚ xÄy!¢v%þœÄyöìrÝþîû vþz”y£îû’ ”yçÐ 1+1

(iii) ~›~¢!‹ „þ# Ú ~!Ýþ …yîyöìîû ö„þ˜ îÄî£*“þ £ëû Ú 1+1

2. (i) xÄyöì›y!˜ëûy› ¢yœöìšþÝþ vþzêþ™y”˜ ²Ì!e«ëûy î’Å̃ y „þîûÐ 3

(ii) xyöìëûy!vþ˜ ›y˜ ~î‚ ¢Äyþ™!˜!šþöì„þŸ˜ ›y˜éôé~îû ›öì•Ä þ™yíÅ„þÄ !„þ Ú 3

(iii) ÝþëûöìœÝþ ¢yîy˜ ~î‚ çëûy!Ÿ‚ ¢yîy˜éôé~îû ›öì•Ä þ™yíÅ„þÄ „þ# Ú 3

(iv) ‹µyœy˜#îû !¢öìÝþ˜ ¢‚…Äy !„þ Ú 1

3. (i) ö“þœ ~î‚ ‰þ!îÅ=!œîû £y£zöìvÈþyöì‹öì̃ Ÿöì̃ îû ~„þ!Ýþ ¢‚!Çþ® ö˜yÝþ öœöì…yÐ 3

(ii) ~„þ!Ýþ !¢˜öìí!Ýþ„þ îûyîyîûéôé~îû ˜y› ”yçÐ 1

(iii) £zvþz!îûëûyîû îy!’!‹Ä„þ ²Ìlßþ!“þ öœ…Ð 2

(iv) ~˜!þ™öì„þ ¢yîû îœöì“þ „þ# öîyGþ Ú 2

(v) ¢‚öìëy‹˜ þ™!œ›yîûy£zöì‹Ÿ˜ ~î‚ ö„þyéôéþ™!œ›yîûy£zöì‹Ÿöì̃ îû ›öì•Ä þ™yíÅ„þÄ „þ# Ú 2

4. (i) ~œ!þ™!‹îû vþzöìm†‹˜„þ †Äy¢=!œîû †àþ˜ ~î‚ ˜y› öœöì…yÐ 2

(ii) îyöìëûyšþy!ÝÅþœy£z‹yîû ~îû ¢‚!Çþ® ö˜yÝþ öœöì…y 3

(iii) xÄy!rÝþéôé˜!„þ‚ ~öì‹rÝþ „þ# Ú 2

(iv) îyöìëûy†Äyöì¢îû ¢‚!Çþ® ö˜yÝþ öœöì…yÐ 3
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5. (i) ö„þÝþyöìëûy!˜„þ ~î‚ xÄy!˜öìëûy!˜„þ !vþÝþyîûöì‹öìrÝþîû vþz”y£îû’ ”yçÐ 2

(ii) ¢%þ™yîûšþ¢öìšþÝþ „þ# Ú. ~îû !„þŠ%é îÄî£yîû ”yçÐ 2

(iii) „þ#¦þyöìî ˜y£zœ˜-6, 6 ¢‚öìÙÕ¡ì’ „þîûöìî Ú 2

(iv) íyöì›Åy²Õy!ÞÝþ„þ ~î‚ íyöì›Åyöì¢!Ýþ‚ ²Õy!ÞÝþöì„þîû ¢‚Kþy ”yç Ú 2

(v) ¦þÄyœ„þy˜y£zöì‹Ÿ˜ „þ# Ú 2

!î¦þy† éô …

!˜Á¬!œ!…“þ öíöì„þ öë ö„þy˜ç ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 10×1=10

6. (i) †œ˜yBþ ~î‚ !ÝþÆþ™œ þ™öìëûöìrÝþîû ›öì•Ä þ™yíÅ„þÄ=!œ „þ# Ú 2

(ii) †vþü– ö›yvþ ~î‚ !›!vþëûy˜ ¢‚Kþy!ëû“þ „þîûÐ 3

(iii) ~öì‹yÝþÆ!þ™„þ !›×’ îœöì“þ „þ# öîyGþ Ú 2

(iv) ²Ìyí!›„þ ÞÝþÄyuþyvÅþ ~î‚ ›y•Ä!›„þ ›y˜ ¢›y•y˜ îœöì“þ „þ# öîyGþ Ú 3

7. (i) „þ!Á™vþzÝþyöìîûîû !î!¦þ§¬ vþzþ™y”y˜ „þ# „þ# Ú 2

(ii) ÞÝþÄyuþyvÅþ !î‰%þÄ!“þ ~î‚ ›)œ †vþü ößþñyëûyîû !î‰%þÄ!“þ îœöì“þ „þ# öîyGþ Ú 1+1

(iii) CaCO3 ~îû “þyþ™¦þyD˜ ~îû ‹˜Ä ßþºy•#˜“þyîû !vþ!@ùÌ †’˜y „þîûÐ 2

(iv) !¢!þ™£zvþz ~î‚ îûÄyöì›îû ¢Á™)’Å šþ›Å!Ýþ öœ…Ð 2

(v) •y“þî xyëû̃  ¢)‰þ„þ îœöì“þ „þ# öîyGþ Ú vþz”y£îû’ ”yçÐ 2

–––––––––––


